
 

KAWASAKI Z900  
2020 - 2023 
Part Nr. 652 
 

 

8300 

M6 x 12 DIN7991 

M8 x 40 DIN7991 

Ø22x tl.15 

8970 

M8 x 25 DIN7380 

813LB 

813RH 

884 

M8 x 20 DIN912 

807Z 

M8 x 40 DIN912 

807Z 

M6 x 50 DIN7380 

817 + Ø 12 x tl.26 

M6 DIN985 
 

 

M6 x 35 DIN7380 

Ø12 x tl.9 

816R + M6 DIN985 

818.150mm 
THREADED 

ROD M6L 
+2x M6 

DIN934 

 

 

810S 
M6 x 12 DIN7991 

 

At the back 

BD20 + M5 x 6 

DIN7380 

 

M8 x 20 DIN7991 

M8 x 20 
 DIN7991 

M6 x 16 

DIN7984 + 2067  

M6 x 12 DIN7991 

M8 x 30  

DIN6921 

887 


